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Math 195-1XD

6/16/2016
Exam 1

Directions Answer all questions in the space provided. Show all work and box your final answers. Answers

with no work shown will not receive full credit. Good luck!

1. Compute and simplify the following.
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2. Compute the product/quotient/sum/difference and simplify.
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3. Solve each of the following equations by factoring.
(a) 5z — 402% 4+ 60z = 0 &Y = 5
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4. Solve each of the following inequalities and express the solutions using interval notation.
(a) —2<8-2z< -1
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5. Find the center of radius of the circle described by the following equation

:1:2+y2—2a:+6y+1§0

6. Give an equation for the line that passes through the point (—1,—2) and is perpendicular to the line
2z +5y+8=0.
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